Convertir Sistemas Numéricos (C)

Escriba cada respuesta en la base numérica indicada.

Octal =7
Hexadecimal =

Octal = 1317
Hexadecimal =

Octal = 1035
Hexadecimal =

Octal = 1311
Hexadecimal =

Octal = 20530
Hexadecimal =

2.

10.

Octal = 43
Hexadecimal =

Octal = 1306
Hexadecimal =

Octal = 273
Hexadecimal =

Octal = 474
Hexadecimal =

Octal = 6314
Hexadecimal =
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Convertir Sistemas Numéricos (C) Respuestas

Escriba cada respuesta en la base numérica indicada.

Octal =7
Hexadecimal = 7

Octal = 1317
Hexadecimal = 2CF

Octal = 1035
Hexadecimal = 21D

Octal = 1311
Hexadecimal = 2C9

Octal = 20530
Hexadecimal = 2158

2.

10.

Octal = 43
Hexadecimal = 23

Octal = 1306
Hexadecimal = 2C6

Octal = 273
Hexadecimal = BB

Octal = 474
Hexadecimal = 13C

Octal = 6314
Hexadecimal = CCC
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